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Arnsiwers may be written either in English ov in Malayalam,

Part A

Answer all gusstions.
Eacit guestion carries 1 mark.

What do you mean by profit maximization ?

. What do yvou mesn by discounting ?

What do you mean by overall cost of capital 7
What do vou mean by capitalization 7

What is optimurn capital structure ?

What do you mean by plooghing-back of profit 7

What is conservative dividend policy ?

| What do you mean by market value weights ?

Name any iwo factors affecting working capital of an organisation.
What do vou mean by arbitrage ?

Part B (Short Answers)

Answer any eight guestions,
Each guestion cerries 2 marks,

Wrile a note on time value of money,
What is meant by capital structure ?
Dhfferentiale gross and nel working capital.

THifferentiate equity shares from preference shares,
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What do you mean by permanent working capital ?

What do vou mean by operating cycle ?

How does business cycle affect the working capital requirement of an organisation ?
What is optimum capital structure ?

What is capilal gearing 7

Define financial leverage.

What 15 ereditorship capital 7

Write a note on liquidity.

B xf=18)
Part C

Anguer gy S1% questions.

Euach question carries 4 marks,

X Lid. issues 10 % irredeernable preferance shares. The face value/share is Es. 100 but the issue
price is Bs. 95.

(a) Whal is the cout of preference ghares 7
(b) What is the cost if the issue price 1s Rs. 105 ?
Give arguments to support the view that dividends are irrelevant.

How is the weighted average cost of capital caleulated ? What weights should be used in its
calculation ?

E'xplain MM theory.

Define the scope of financial management. What role should the financial manager play in a
modern enterprisge ¥

Disenss briefly the different approaches to the computation of the cost of equity capital.
Explain leverage. ]
What are the different methods of estimating working cnpitﬂi.nééda of an organisation.
What are the factors determining the dividend policy ?
(6% 4=24)
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Part D

Answer any two guestions.
Eauh guestion carries 156 morks,

Explain the determinants of working capital.

Desecribe the traditional view on the eplimum capital structure. Compare and contrast this view
with the NOI approach and the NI approach.

What do you understand by dividend policy ? What are the main determinants of dividend policy
in a corporate enterprise ?

Aswathy Ltd. has the following book value capital structure on 31% March, 2004.

Source of Finance Amount (Rs.) Proportion
Share Capital i 2;20,000 45
Reserves and Surplus 78,000 15
Preference Share capital 50,000 10
Dbt 1,650,000 30
5,00,000 100

The expected after-tax componcnt costs of the various sources of finance for Aswathy Ltd. are as
follows :

Saurce Cast (%)
Equity 18
Reserves and Surplus 18
Preference Share capital 11
Debt 8

Caleulate weighted average oost of capital. Buppose Aswathy Ltd, has 2,25,00,000 aquity shares
outstanding and that the current market price per share is Rs. 20. Assume that the market values
and the hook values of debt and preference share capital are the same. Calculate the WACC.

(2 x 15 =3




